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3XML�V\XNXU�SHQXOLV�XFDSNDQ�NHSDGD�$OODK�6:7�\DQJ�0DKD�3HQJDVLK�ODJL�

0DKD� 3HQ\D\DQJ� \DQJ� WHODK� PHPEHULNDQ� VHJDOD� UDKPDW�1\D� VHKLQJJD� SHQXOLV�

GDSDW�PHQ\HOHVDLNDQ�7XJDV�$NKLU \DQJ�EHUMXGXO´��6LVWHP�.RQYHUVL�(QHUJL�3DQDV�

%HUGD\D� 5HQGDK� 0HQJJXQDNDQ� *HQHUDWRU� 7KHUPRHOHFWULF� 6HEDJDL� 3HQJKDVLO�

/LVWULN´�WHSDW�SDGD�ZDNWXQ\D�

%XNX� LQL� GLVXVXQ� GHQJDQ� WXMXDQ� XQWXN� PHPHQXKL� VDODK� VDWX� V\DUDW�

PHQ\HOHVDLNDQ� VWXGL� GDQ�PHPSHUROHK� JHODU�6DUMDQD�7HNQLN� SDGD�3URJUDP�6WXGL�

7HNQLN� (OHNWUR� GL� 8QLYHUVLWDV� 7HONRP��%XNX� LQL� GLVXVXQ� EHUGDVDUNDQ� KDVLO� GDUL�

SHUDQFDQJDQ��SHQHOLWLDQ�GDQ�DQDOLVLV�\DQJ�WHODK�GLODNXNDQ�ROHK�SHQXOLV�

3HQXOLV� PHQ\DGDUL� GDODP� SHQ\XVXQDQ� EXNX� LQL� WLGDN� DNDQ� VHOHVDL� WDQSD�

EDQWXDQ�GDQ�GRD�GDUL�EHUEDJDL�SLKDN��NDUHQD�LWX�SHQXOLV�LQJLQ�PHQJXFDSNDQ�WHULPD�

NDVLK�NHSDGD�SLKDN�SLKDN�\DQJ�WHODK�PHPEDQWX�PHPEHUL�QDVLKDW��GRD��GDQ�VDUDQ�

NHSDGD�SHQXOLV��6HPRJD�NHEDLNDQ�\DQJ�WHODK�GLEHULNDQ�NHSDGD�SHQXOLV�PHQGDSDW�

EDODVDQ�GDUL�$OODK�6:7�

'HQJDQ� VHJDOD NHUHQGDKDQ� KDWL� GHPLNLDQ� EXNX� LQL� SHQXOLV� VXVXQ� DJDU�

QDQWLQ\D� GDSDW�PHPEHUL�PDQIDDW� DWDX� LOPX� NHSDGD� SHPEDFD� \DQJ� EHUKXEXQJDQ�

GHQJDQ�PDWHUL�\DQJ�GLEDKDV�SDGD�EXNX�LQL��$NKLU�NDWD��SHQXOLV�PHQ\DGDUL�EDKZD�

EXNX�LQL�PDVLK�PHPLOLNL�NHNXUDQJDQ��ROHK NDUHQD�LWX NULWLN�GDQ�VDUDQ�SHQWLQJ�EDJL�

SHQXOLV�XQWXN�NHVHPSXUQDDQ�EXNX�LQL�
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